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Blind Bats at Halloween

There were a number of bats in a cave. Two bats could see out of the right eye, three
could see out of the left eye, four could not see out of the left eye, and five couid not see
out of the right eye. What is the least number of bats in the cave and what might their
eyesight have been? (Were they totally biind, blind only in the right eye, etc.?)

PLEASE USE THIS 4-STEP PLAN TO SOLVE
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Step 1: Restate the problem in your oun words.

THE PROBLEM IN

Step 2: Collect and list all of the important infcinﬂation (facts) from the

problem.

Step 3: Solve the problem AN[j describe iﬁ detail what you did to solve it
(what you tried, what worked, what didn’t work, etc.)

- itg_pﬁ Look back at your answer ~ how do you bnow it makes sense?
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